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A
CHet 7171 HETE
7|2t
Chat 34
o, otsh, o2 &7|7|F 2,000,000 | 5,000,000 3F
7t88 ©21717] 3 HE717|R 1,600,000 | 5,000,000 3F
e 1,600,000 | 5,000,000 3F
N e M e 1,600,000 | 5,000,000 3F
MEN7|7|1F 2,000,000 | 5,000,000 3F
AR PSPNESS 2,000,000 | 5,000,000 3F
TRI7HHE X S HOEX|F 2,000,000 | 5,000,000 3F
,dY 2 E3Y &8 77|=® 2,000,000 | 5,000,000 3F
g2t 77|&F 2,000,000 | 5,000,000 3F
ol 7|7|& 4,000,000 | 5,000,000 45
24 dH7|7| 7 2,000,000 | 5,000,000 3F
A2EYH BHM7|7| 2,000,000 | 5,000,000 3F
2Md= 2,000,000 | 5,000,000 3F
A Sz MEE FEZLEEH FMY|7 2,000,000 | 5,000,000 3F
i 2,000,000 | 5,000,000 3F
FMHOHSMAAH-E EF2=EH FM7|7] 2,000,000 | 5,000,000 3F
Fh+S8 FUHTSEX/SLAE H < 2,000,000 | 5,000,000 3F
HEHS7|7| 2,000,000 | 5,000,000 3F
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HE|OIC|N7|7| 7/ 2,000,000 | 5,000,000 3F
L2tEE 2,000,000 | 5,000,000 3F
7| XA A 3,000,000 | 5,000,000 3F
5G Ols&4lol 7|X|=, SAH7|, Ex7|7| 2,000,000 | 5,000,000 3F
2G, 3G, 4G O|s&2I°| 7|X|=, A 7|, Ex7|7| 2,000,000 | 5,000,000 EES
5G Ols&t(Edst 9= &) WoABt 24 | 2,000,000 | 5,000,000 33
o2 75, 295 49)9 7|X =, 347, &
Z7171)
5G O|ls&4lo| B 7|, Ex7|7| 2,000,000 | 5,000,000 3F
2G, 3G, 4G O|s&Al9| ttH7|, EX7|7| 2,000,000 | 5,000,000 3F
5G Ols&t(Edst 9= &) WolABF 24 | 2,000,000 | 5,000,000 3F
o2 T35, 295= 4d9)2 7|, BEX7(7))
Unintentional Radiator 1,200,000 3,500,000 2T
FCC Part 15 Subpart B
Industrial, Scientific, and Medical Equipment 1,200,000 3,500,000 2T
FCC Part 18 with FCC MP-5
QCVN 18 2,000,000 | 5,000,000 3F
QCVN 86 2,000,000 | 5,000,000 3F
QCVN 96 2,000,000 | 5,000,000 3F
QCVN 103 2,000,000 | 5,000,000 3F
QCVN 112 2,000,000 | 5,000,000 3F
QCVN 118 1,500,000 | 3,500,000 2F
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